2AM: SAID
M CADHS(ZELXGNL/XHLEAL)
tel: SAIHESE (Crel: &)
2A - ZH () - MRAIY - HAS Ofl &F2H JE A Hlns2
Al 24,350,239 18,393,983 5,956,256
= 124,000 0 124,000
< 6,000 6,000 0
Al 22,720,239 16,887,983 5,832,256
CH 1,500,000 1,500,000 0
SAHS(ZELXSNL /X HLSAl) 20,632,659 14,849,059 5,783,600
SAHE S 3,010, 149 910,149 2,100,000
SAIHIE 2] 2,978,970 878,970 2,100,000
401 AIEBIZL S008I 2,900,000 800,000 2,100,000
01 Al&Hl 2,900,000 800,000 2,100,000
OMNJATIAYU~NGHEAY T2 SEXHSA
2 FAESAHEA)
600,000,000 *1A! 600,000 0 600,000
OMNJATAYU~NGHEAY T2 SEXHSA
L F=XHESAE 1,500,000, 00021 %1 A! 1,500,000 0 1,500,000
SADIBEYA 17,622,510 13,938,910 3,683,600
CAIHE 2o 10,053,600 7,200,000 2,853,600
401 AIEBIZL S008I 10,053,600 7,200,000 2,853,600
01 Al&H| 10,041,000 7,187,400 2,853,600
OS8H S 212 SAIHEEZ IHESA
Z& 1,200,000,000< 1,200,000 496,400 703,600
Ootes otUHE=~-DLE 2 OHIIEZS
SIS A 23 1,000,000,000 1,000,000 500,000 500,000
OJIE1S JIIEXSS ¥ TAHEE2(L23-2285)
SIS A
150,000,000 1A 150,000 0 150,000
OZF1s RHAUIOE 212 SAHEEZ
SIS A 21A 700,000,0002 700,000 100,000 600,000
OF&1ES MIEAIL~=HIRInXtE2 SN A
23 1,000,000,000& 1,000,000 500,000 500,000
OF&EZS 223 A0S M2 SESA
200,000,000 *1A! 200,000 0 200,000
2 MEHE ZTAHEC2(L22-3475)
HSINSSAL 200,000,000 14! 200,000 0 200,000
SAHERGY S22 2,356,000 1,526,000 830,000
401 Al &EHIZL LY 2,354,000 1,524,000 830,000
01 Al&Hl 2,351,840 1,521,840 830,000
Ootes SAEZEHl 29 W AISHUISA
AA 1,000,000,000& 1,000,000 300,000 700,000
OFdes SRESs1 212 FWEAHIA
100,000,000 * 1Al 100,000 0 100,000
Oztdetzg o2 2 ZHIZSA
30,000,000 % 14! 30,000 0 30,000
CAEZ(ZELXGMNL /X HLSAl) 3,298,578 3,161,778 136,800
= 124,000 0 124,000
Al 1,674,578 1,661,778 12,800
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2B O9(3) - MRAY - BES Ofl Aot )l 3o {ImE=ST
H 1,500,000 1,500,000 0
SAICIRIRI 22| 3,298,578 3,161,778 136,800
= 124,000 0 124,000
Al 1,674,578 1,661,778 12,800
CH 1,500,000 1,500,000 0
S AICIRrRI 22 174,578 161,778 12,800
201 LE23H| 41,200 30,600 10,600
03 AL2ZEH| 10,600 0 10,600
OZFAl Olef74 g8 ARLR HE ™A
L ST 10,600 0 10,600
—S=uy 0 H&
80,0002*1H 80 0 80
—St=ny S22 2AE
420,0002%1 420 0 420
—St=Xy S ZANYI
100,00024+1% 100 0 100
—&AIE L STy A Y 89
10,000, 0002 * 14! 10,000 0 10,000
301 LBEAEZ 103,378 101,178 2,200
11 HAAHIX 23 2,200 0 2,200
OZFAl Olef74 g8 ARLR HE MA
2 sty AT o] 2,200 0 2,200
—SH| 47,0003 40 1,880 0 1,880
—4AlH| 8,000 40 320 0 320
(=2)U2AESIHE 2SS At 124,000 0 124,000
= 124,000 0 124,000
201 L2 3| 8,203 0 8,203
= 8,203 0 8,203
01 At22teld| 5,203 0 5,203
OFUEXE A= =&
106,748 21%1-x303 3,203 0 3,208
= 3,208 0 3,208
OZ3A=It SR e U=
2,000,000 14l 2,000 0 2,000
= 2,000 0 2,000
03 A2 3,000 0 3,000
ORRINZBIINE EEE S8 MIOILE
3,000,000 %14l 3,000 0 3,000
= 3,000 0 3,000
207 AN 100,000 0 100,000
= 100,000 0 100,000
01 H2E249| 100,000 0 100,000
OJB2USAZTAI o172 29
100,000,000 * 1Al 100,000 0 100,000
= 100,000 0 100,000
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=l SAICIARl 2] (CHR: X 2)
SA BB SR(E) - HRAY - BES Ofl kot J| & o HimE2
301 Let2d&3 15,797 15,797
= 15,797 15,797
14 J|Et243 15,797 15,797
OFZE3H=I ¢
15,797, 0002 14! 15,797 0 15,797
= 15,797 0 15,797
ZNE 2e(ZEL XS/ RSL Al 99,134 94,134 5,000
== 6,000 6,000 0
Al 93,134 88,134 5,000
S22 | 99,134 94,134 5,000
== 6,000 6,000 0
Al 93, 134 88,134 5,000
2= & 79,134 74,134 5,000
301 LEEHZ 18,950 13,950 5,000
14 J|Et243 18,500 13,500 5,000
Ors sYHILIE +HEH= K= 17,300 12,300 5,000
—8g = BA3
5,000,00021%14] 5,000 0 5,000
MRPES(TAIN (ZELX SN/ NSLTAI) 30,856 0 30,856
SEXE 30,856 0 30,856
SEXE 30,856 0 30,856
802 gret=DIEF 30,856 0 30,856
02 Al - EHIEZZEteS 30,856 0 30,856
02022 % 30,856 0 30,856
—TAESAIY[YFE CAHECSZ2(A1-13) HHI]
30,586,00021% 144 30,586 0 30,586
—CAESAML[IFEE TAHE =2 (A1-13) EbI]
(OIXH) 270,000 %14l 270 0 270




